Engr 220




Assignment 8


    
4 October 2013
In answering the following questions, be sure to justify your answers.  Don’t simply say ‘yes” or “3.4” or “False.”

1.
Use Newton’s Method to evaluate the cube root of 587 to six digits.  Begin with 
xo = 3.  Show your work and write out the table of successive approximations.
2.
In binary, one third (1/3) equals (0.0101010101. . .)2.  Suppose the word length of a 
computer is 10 bits.  What value will result when the computer translates one third 
from decimal to binary to decimal?  What about 1/128?


[Note that binary digits are powers of 2 or of ½.]

3.
An equation for the height of a falling object (such as brick dropped from the top of 
a building) is
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where yo is the initial height at t = 0, vo is the initial velocity ( up is + ), and g is the 
acceleration due to gravity near the earth's surface (9.8 m/sec2).


Prepare a flow chart and algorithm to read yo, vo, and a value of y < yo and then 
compute t – the time elapsed when falling from yo to y.  You'll have to use the 
quadratic formula.
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